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2N ASAM D
M =2ox 24 Y 2
S STEHX X4 U Rel(STUNELALSHIN) (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Os2X&2 & X 222 =0l
20,000 * 2 = 75 3,000
301 LBt A= 2,000 1,000 1,000
09 HAIAHI EAZ 2,000 1,000 1,000
OsZ2CX LFIY 2t 3
1,000,000& * 23| 2,000
401 AlEHIZL 201 Y| 140,800 1,178,810 A 1,038,010
01 Al&H| 139,800 1,170, 166 A 1,030,366
OsZ2CHX |A2a 139,800
—CSAE HE2=(6IHA)
18,300,000 * 6IH A 109,800
— 22 =X |X22 15,000,000& = 23| 30,000
03 Al 204 Y| 1,000 8,644 NT,644
OsZ2CX |SA22 AtY 1,000
801 oyl dl 5,555,414 1,795,738 3,759,676
01 L Btal gl bl 5,555,414 1,795,738 3,759,676
(@) s1Ns]! 5,555,414
SZ2HX “SAE HESE 450,000 500,000 A 50,000
Fag 270,000
= 180,000
401 Al HI L 2 0HHI 450,000 500,000 A 50,000
Fag 270,000
o 180,000
01 Al& H| 446,760 496,400 A 49 640
Os2HX A HES:AS(E2) 248,200
Fag 148,920
= 99,280
OsZ2HX SSAE HESASE(01Y) 198,560
Fag 119,136
= 79,424
03 Al 24| 3,240 3,600 A 360
Os2HX A HES:AS(E2) 1,800
Fag 1,080
= 720
OsZ2HX SSAIE HESASE(01Y) 1,440
Fag 864
= 576




